MEIRMESHEEHT VI N BEBHRBRCUREHETIILER  z1n
6{89,53975F3(2.1%)

BB

2188,55675M (0.8%) —ﬂiﬁ%‘l‘ 3371,%2,00075 A

X% SED T e - N
PETE UnESE 51345 | 1288,0505m 3,4315M(0.1%) (R#TEEL 2 2{28,0005M 20.8%) E ﬁ F0
V& | BRIRIEEHEEE 1485,94258 | 8% Z0fth 6
EEREEOTSESE 2,9725M | EMKERE >.0007m0-2%) = % £
BhSAAHIHEES S 1184,9005M (3.9%) E
5L | HEENEBE 1.35775M T EB 9 =
REHX B EREE 10{88,596 753 et e N o))
AlgsESE 63250 2934000 R ’ /=7 ¥
L — ez 11587.4155/ '*
LoE | IR BB 3,065 ety s v =
B - BILEE 28575 AR A 15184.4547F3 E %
32{84,3665M o
2R/ TOV T B 1,6725M0 0.6%) 337{82,0005M . ~
F5 | 1 DI 225 1A bHbESE 5155HM 5{82765M *.g
ESBHTRAY — MOEEE 1,836 N (1.5%) 4 _n
36(83,9635M aEse 620 RuEe Ny =
HR1ALLY OEEH—EZORR R/ . S4083,564757) ' fmi e ] O
o LT - - 361%&6,770235@ (14.8%) (16.1%) e N 3181,6155M(0.9%) =N i
2 B | ¢ i (Ek3) : (4.9% 20O BER = I_I
3,8790 67,8143 K BRI SE 2(7,869733(0.8%)
BEXfIE HITESH
R4S ,.,’; B e o) S5 2005M(7.3%) 4{88,88975M(1.4%) % t
: W) '
157,206/ @\ 39,852 nLJ MROAIEBEHRY—ER Té % % % il - gf {2 - 3 — ¥ 0 % % [(4? CC % mg ﬁ
ab R H 15 d:‘ W '%'h‘ = 2 A Fﬁ
sty g ., (G 522 Efasapsiy o2 Cirlriin Q) F
N N 2 N, e ] 52l = 1 HY ++
27952 NN 44,057/ 1;:23 tj ;,1,53593 %%%ﬁ@tg@ %@li 1§$ f%ﬂ%y @y%% P4
. Bu 7,262 = A s DB H S @
SHB5E HEE ~m TERR | 527 FH 7;59@,,7%;,%2% !E >/
17,392 49,7350 <2kt (BEY—E2] & mEmEm 5 {%‘ 3 &8 2 % ReD DS i& 9
N PAD 736244 . # et g o §y A3 HgumoaEd
KiEs DR 30,5241 ADEY 458,003H T mEEn HE 2 E gl 7.xAaD
49,4351 W conermamaonmures: 1WHLEEY | 1,104,704 Y oewemm F . O go= 7R ,ll
ERFHBLNTEO
S R PR R Y e
S P ke el 2 P T e BHSER | AIEEL
S LI LN e «
W 12 4 ) g —Was 337{82,0005 340f8M | £0.8% &
TEREwERD | AED S “HhEmH = - - i
2T B LB ERE VAR ) hEEhELE 2186,5315 4,0955 | 547.9%
Shalgelil 8% oFREZ o HEREPRIS fHLE
~ ~ 0. = = 7 A N =1 S M S 5] (wm) o
S8 ai cRoE A m 0% W0 g bt 56375 591HM | A47%
\ S < S o N
Z_% = f% PN % ;5\ e E % % j% % %% 5 4 | PEHMEX 56873 5798 | A21.9%
w el 5RO "E LEB = A4 | [JreEs 28175 9575/ | A70.6%
Al
m =+ S = o 3 [o)
%%%g;;%%%i\ggg;fﬁ%gé?%gg%;gg 'E\§1% = 2 | BBYEX 3815/ 37658 1.3%
i3] 5 AN 7 s n =z =z 1)
g EE; EE; é ? ; T‘é i Z)‘) /b*g\ %— !—_g ?:: gg lj\: Eg % %— %j‘lli ; % ii % % :XE §+ Eﬁif?{%[@ 721%2,28575'33 751,%\1,48275[]3 AN3.9%
R = C 8 IR =] = A ) N 72 B N 8 ° NS = = 1)
= ig% _ g)) % <\:\‘ 41\ iﬁ% Z,\I = ﬂj g% %J % % e g 0|) %?( %ﬁ % g)\ TEERIR 712111738 | 70{84,0855M 1.0%
& C \ =) RE D Y E B : B = TR A B = = %
,ﬁz\g % (%? ’%% g; % ?;% :Jﬁ 74(\; E\E % I%% % % JI\ g\é E ”R ((\:\ *ﬁ g—) Tﬁ,ﬂﬁl’ﬂ'ﬂ%@ﬁ 91/._,\2,16475']% 81,m8,04775l:q 4.7%
H lc B2 IE g Eé H * =3 : i T%ﬁ A C = = = [¢)
? = E “ox - 2 9 %J % § ;i L5 s % %\ % st 155(84,9735M | 155(81,3236M |  0.2%
w2 2S5ZEE B/ xS F S & &t 492186,97375M | 495(&1,323 £20.5% | B e S
Epir BSERNE BO c® BXE3 %5 A 1 i 1 i SHCEERCRRFENEE) | ERRTEE
AR RE TERL (- L B AN S - FRETMA A~

O :THhbH si06E4818 af6E4n18 2T A O



